# Hyers stability of lattice derivations 

Ehsan Movahednia ${ }^{\text {a }}$, Choonkil Park ${ }^{\text {b }}$, Jung Rye Lee ${ }^{\text {c,* }}$<br>${ }^{a}$ Department of Mathematics, Behbahan Khatam Alanbia University of Technology, Iran<br>${ }^{b}$ Department of Mathematics, Hanyang University, Seoul, 133-791, South Korea<br>${ }^{\text {c Department of Data Science, Daejin University, Kyunggi 11159, South Korea }}$

(Communicated by Madjid Eshaghi Gordji)


#### Abstract

In this paper, the lattice derivatives and their properties are introduced and next to the generalized stability of lattice derivatives is investigated using the direct and fixed point method.


Keywords: Banach lattice, stability functional equation, $f$-algebra, lattice derivation.
2010 MSC: Primary 39B82, 46A40; Secondary 97H50, 46B42

## 1. Introduction

Functional equations and their stability are some of the classical and practical issues in the area of mathematical analysis. About half a century ago, the stability of functional equations was raised with the important question of Ulam [18]. It is said that a functional equation $G$ is stable if each function $g$ satisfying the equation $G$-approximately is near to the true solution of $G$. Hyers developed Ulam's question and theorem [5]. He posed the following theorem:
Suppose that $U$ and $V$ be Banach spaces and $\rho$ be a function from $U$ to $V$ such that the following inequality satisfies for some $\delta>0$ and for every $u, v \in U$,

$$
\|\rho(u+v)-\rho(u)-\rho(v)\| \leq \delta
$$

Then there is only one additive function $T: U \rightarrow V$ so that

$$
\|T(u)-\rho(u)\| \leq \delta
$$

for any $u \in U$.
Mathematicians developed the results of the Hyers theorem. By changing space, norm, control

[^0]Received: July 2021 Accepted: November 2021
function, and functional equation, they could prove more interesting theorems [1, 4, 7, 8, 9, 10, 11, [12, 13, 14, 15. For example, the Jenson functional equation or the integral and differential equations were used instead of the functional equation (in the theorem) and the validity of the theorem proved. Now, we change the functional equation to different lattice functional equation and replacing various control functions in the above theorem.

The first definition of Riesz spaces was done by Frigyes Riesz in 1930. In [16], Riesz introduced the vector lattice spaces and their properties. A Riesz space (vector lattice) is a vector space which is also a lattice, so that the two structures are compatible in a certain natural way. If, in addition, the space is a Banach space, it is a Banach lattice. We present some of the terms and concepts of the Riesz spaces used in this article, concisely. However, we relegate the reader to [2, 6, 17, 19], for the fundamental notions and theorems of Riesz spaces and Banach lattices.

Let $V$ be real vector space that is supposed to be a partially orderly vector space or an ordered vector space, if it is equipped with a partial ordering " $\leq$ " that satisfies

1. $u \leq u$ for every $u \in V$.
2. $u \leq v$ and $v \leq u$ implies that $u=v$.
3. $u \leq v$ and $v \leq w$ implies that $u \leq w$.

A Riesz space is an ordered vector space in which for all $u, v \in U$ the infimum and supremum of $\{u, v\}$, denoted by $u \wedge v$ and $u \vee v$ respectively, exist in $U$. The negative part, the positive part, and the absolute value of $u \in U$, are defined by $u^{-}:=-u \vee 0, u^{+}:=u \vee 0$, and $|u|:=u \vee-u$, respectively. Let $U$ be a Riesz space. $U$ is named Archimedean if $\inf \left\{\frac{u}{n}: n \in \mathbb{N}\right\}=0$ for every $u \in U^{+}$. If $|x| \leq|v|$ implies $\|u\| \leq\|v\|$ for all $u, v \in U$, then $\|$.$\| is called a lattice norm or Riesz$ norm on $U$.

1. $u+v=u \vee v+u \wedge v \quad, \quad-(u \vee v)=-u \wedge-v$.
2. $u+(v \vee w)=(u+v) \vee(u+w) \quad, \quad u+(v \wedge w)=(u+v) \wedge(u+w)$.
3. $|u|=u^{+}+u^{-} \quad, \quad|u+v| \leq|u|+|v|$.
4. $u \leq v$ is equivalent to $u^{+} \leq v^{+}$and $v^{-} \leq u^{-}$.
5. $(u \vee v) \wedge w=(u \wedge v) \vee(v \wedge w), \quad(u \wedge v) \vee w=(u \vee v) \wedge(v \vee w)$.

Let $U$ be a Riesz space. The sequence $\left\{u_{n}\right\}$ is called uniformly bounded if there exists an element $e \in U^{+}$and sequence $\left\{a_{n}\right\} \in l^{1}$ such that $u_{n} \leq a_{n}$.e. A Riesz space $U$ is named uniformly complete if $\sup \left\{\sum_{i=1}^{n} u_{i}: n \in \mathbb{N}\right\}$ exists for every uniformly bounded sequence $u_{n} \subset U^{+}$. Let $U$ and $Y$ be Banach lattices. Then the function $F: U \rightarrow V$ is called a cone-related function if $F\left(U^{+}\right)=\{F(|u|)$ : $u \in U\} \subset V^{+}$.

Theorem 1.1. [Q] For a function $F: U \rightarrow V$ defined between Riesz spaces, the conditions stated are equivalent:

1. $F$ is a lattice homomorphism.
2. $F(u)^{+}=F\left(u^{+}\right)$for all $u \in U$.
3. $F(u) \wedge F(v)=F(u \wedge v)$, for all $u, v \in U$.
4. If $u \wedge v=0$ in $U$, then $F(u) \wedge F(v)=0$ in $V$.
5. $F(|u|)=|F(u)|$, for every $u \in U$.

Definition 1.2. [14] A function $d: U \times U \rightarrow[0, \infty]$ is named a generalized metric on set $U$ if $d$ satisfies the succeeding conditions
(i) for each $u, v \in U, d(u, v)=0 \Leftrightarrow u=v$;
(ii) for all $u, v \in U, d(u, v)=d(v, u)$;
(iii) for all $u, v, w \in U, d(u, w) \leq d(u, v)+d(v, w)$.

Notice that the just generalized metric significant difference from the metric is that the generalized metric range contains the infinitude.

Theorem 1.3. 14] Let $(U, d)$ be a complete generalized metric space and $I: U \rightarrow U$ be a contractive mapping with Lipschitz constant $L<1$. Then for every $u \in U$, either

$$
d\left(I^{n+1} u, I^{n} u\right)=\infty
$$

for all non-negative integers $n$ or there exists an integer $n_{0}>0$ so that
(i) For all $n \geq n_{0}, d\left(I^{n} u, I^{n+1} u\right)<\infty$;
(ii) $I^{n}(u) \rightarrow v^{*}$, where $v^{*}$ is a fixed point of $I$;
(iii) $v^{*}$ is the unique fixed point of I in the set $V=\left\{v \in U: d\left(I^{n_{0}}(u), v\right)<\infty\right\}$;
(iv) For each $v \in V, d\left(v^{*}, v\right) \leq \frac{1}{1-L} d(I v, v)$.

## 2. Main Results

Definition 2.1. Let $L$ be a lattice. A derivation of $L$ is a function $\rho: L \rightarrow L$ such that
(D1) $\rho(u \vee v)=\rho(u) \vee \rho(v)$,
(D2) $\rho(u \wedge v)=(\rho(u) \wedge v) \vee(u \wedge \rho(v))$,
for all $u, v \in L$.
Theorem 2.2. Let $L$ be a Riesz space. A function $\rho: L \rightarrow L$ is a lattice derivation if and only if
(D3) $\rho(u \vee v \vee w)=\rho(u) \vee \rho(v) \vee \rho(w)$,
(D4) $\rho(u \wedge v \wedge w)=(\rho(u) \wedge v \wedge w) \vee(u \wedge \rho(v) \wedge w) \vee(u \wedge v \wedge \rho(w))$,
for all $u, v, w \in L$.
Proof. It is clear to see that $(D 1) \Leftrightarrow(D 3)$, we show that $(D 2) \Leftrightarrow(D 4)$. Let $(D 2)$ is satisfied, so we have

$$
\begin{align*}
\rho(u \wedge v \wedge w) & =(\rho(u \wedge v) \wedge w) \vee(u \wedge v \wedge \rho(w)) \\
& =(\rho(u) \wedge v) \vee(u \wedge \rho(v) \wedge w) \vee(u \wedge v \wedge \rho(w)) \\
& =(\rho(u) \wedge v \wedge w) \vee(u \wedge \rho(v) \wedge w) \vee(u \wedge v \wedge \rho(w)) \tag{2.1}
\end{align*}
$$

for all $u, v, w \in L$. Note that $L$ is a Riesz space, so it has distributive low. For inverse, we substitute $w=v:=w$ in (4), therefore we obtain

$$
\rho(u)=(\rho(u) \wedge u),
$$

this implies that $\rho(u) \leq u$, for all $u \in L$. Putting $w=u$ in (D4), we get

$$
\rho(u \wedge v)=(\rho(u) \wedge v) \vee(u \wedge \rho(v)),
$$

so, $\rho$ satisfies in (D2).

Corollary 2.3. Let $L$ be a Riesz space. A function $\rho: L \rightarrow L$ is a lattice derivation if and only if
(i) $\rho\left(\bigvee_{i=1}^{n} u_{i}\right)=\bigvee_{i=1}^{n} \rho\left(u_{i}\right)$,
(ii) $\rho\left(\bigwedge_{i=1}^{n} u_{i}\right)=\bigvee_{i=1}^{n}\left(\rho\left(u_{i}\right) \wedge \bigwedge_{j=1, j \neq i}^{n} u_{j}\right)$
for all $u_{1}, u_{2}, \ldots, u_{n} \in L$.
Proof . It is easy to show that above equalities is satisfied by Induction on n.
Theorem 2.4. Suppose that $L$ be a Banach lattice and $\varphi, \psi: L^{n} \rightarrow[0, \infty)$ be two functions, so that

$$
\begin{equation*}
\varphi\left(q_{1} u_{1}, q_{2} u_{2}, \ldots, q_{n} u_{n}\right)=\left(q_{1} q_{2} \ldots q_{n}\right)^{\frac{\alpha}{n}} \varphi\left(u_{1}, u_{2}, \ldots, u_{n}\right) \tag{2.2}
\end{equation*}
$$

and

$$
\begin{equation*}
\psi\left(q_{1}^{n} u_{1}, q_{2}^{n} u_{2}, \ldots, q_{n}^{n} u_{n}\right)=\mathcal{O}\left(q_{1} q_{2} \ldots q_{n}\right) \tag{2.3}
\end{equation*}
$$

for some $\alpha \in[0,1)$ and for all $u_{1}, u_{2}, \ldots u_{n} \in L$ and $q_{1}, q_{2}, \ldots, q_{n} \geq 1$. Let $f: L \rightarrow L$ be a function such that

$$
\begin{equation*}
\left\|\bigvee_{i=1}^{n} f\left(\bigvee_{j=1}^{n} q_{i} u_{j}\right)+f\left(\bigvee_{i=1}^{n} q_{i} u_{i}\right)-2 \bigvee_{i=1}^{n} q_{i} f\left(u_{i}\right)\right\| \leq \varphi\left(u_{1}, u_{2}, \ldots, u_{n}\right) \tag{2.4}
\end{equation*}
$$

and

$$
\begin{equation*}
\left\|f\left(\bigwedge_{i=1}^{n} u_{i}\right)-\bigvee_{i=1}^{n}\left(f\left(u_{i}\right) \wedge \bigwedge_{j=1, j \neq i}^{n} u_{j}\right)\right\| \leq \psi\left(u_{1}, u_{2}, \ldots, u_{n}\right) \tag{2.5}
\end{equation*}
$$

for all $u, v, u_{1}, u_{2}, \ldots u_{n} \in L$ and $q_{1}, q_{2}, \ldots, q_{n} \geq 1$. Then there exists a unique lattice derivation $\rho: L \rightarrow$ $L$ such that the following properties hold.
(1) For all $u \in L$ and $q_{1} \geq 1$;

$$
\begin{equation*}
\|f(u)-\rho(u)\| \leq \frac{1}{2\left(q_{1}-q_{1}^{\alpha}\right)} \varphi(u, u, \ldots, u) \tag{2.6}
\end{equation*}
$$

(2) $\rho^{n}=\rho$ which $\rho^{n}=\rho o \rho o \ldots o \rho$, furthermore $\rho(u) \leq u$ for all $u \in L$.
(3) $\rho$ is increasing mapping. It means that if $v \leq u$ then $\rho(v) \leq \rho(u)$ for all $u, v \in L$.
(4) $\operatorname{Fix}_{\rho}(L)=\{u \in L: \rho(u)=u\}$ is an ideal of $L$, moreover $\operatorname{Fix}_{\rho}(L) \cap \operatorname{Ker}(\rho)=\{0\}$

Proof. We define the set $\Delta:=\{g: L \rightarrow L \mid g(0)=0\}$ and the function $d: \Delta \times \Delta \rightarrow[0, \infty]$ such that

$$
d(g, h)=\inf \left\{c \in \mathbb{R}^{+}:\|g(u)-h(u)\| \leq c \varphi(u, u, . ., u)\right\}
$$

for all $u \in L$. It has been proven the function $d$ is generalized metric on $\Delta$, moreover $(\Delta, d)$ is complete, [[3], theorem 2.5]. Next, we define the mapping $I: \Delta \rightarrow \Delta$, so that

$$
\begin{equation*}
I g(u):=\frac{1}{q_{1}} g\left(q_{1} u\right) \tag{2.7}
\end{equation*}
$$

for all $u \in L$ and $q_{1} \geq 1$.
Putting $q_{1}=q_{2}=\ldots=q_{n}:=q_{1}$ and $u_{1}=u_{2}=\ldots=u_{n}:=u$ in (2.2), so we obtain

$$
\begin{align*}
\|\operatorname{Ig}(u)-\operatorname{Ih}(u)\| & =\frac{1}{q_{1}}\left\|g\left(q_{1} u\right)-h\left(q_{1} u\right)\right\| \\
& \leq \frac{1}{q_{1}} c \varphi\left(q_{1} u, q_{1} u, \ldots, q_{1} u\right) \\
& \leq \frac{1}{q_{1}} c q_{1}^{\alpha} \varphi(u, u, \ldots, u)=c q_{1}^{\alpha-1} \varphi(u, u, \ldots, u) \tag{2.8}
\end{align*}
$$

for all $u \in L$. It means that

$$
d(I g, I h) \leq c q_{1}^{\alpha-1} .
$$

Thus, we see that

$$
\begin{equation*}
d(I g, I h) \leq q_{1}^{\alpha-1} d(g, h) \tag{2.9}
\end{equation*}
$$

therefore the mapping $I$ is strictly contractive on $\Delta$ with $l=q_{1}^{\alpha-1} \leq 1$. Putting $u_{1}=u_{2}=\ldots=$ $u_{n}:=u$ and $q_{1}=q_{2}=\ldots=q_{n}:=q_{1}$ in (2.4), so we have

$$
\begin{equation*}
\left\|2 f\left(q_{1} u\right)-2 q_{1} f(u)\right\| \leq \varphi(u, u, \ldots, u) \tag{2.10}
\end{equation*}
$$

therefore

$$
\left\|\frac{1}{q_{1}} f\left(q_{1} u\right)-f(u)\right\| \leq \frac{1}{2 q_{1}} \varphi(u, u, \ldots, u)
$$

Hence $d(I f, f) \leq \frac{1}{2 q_{1}}$. With theorem 1.3), there exists a mapping $\rho: L \rightarrow L$ so that
(1) the mapping $\rho$ is a unique fixed point of $I$ in $M=\{g \in \Delta: d(g, h)<\infty\}$, therefore

$$
\rho\left(q_{1} u\right)=q_{1} \rho(u),
$$

for all $u \in L$.
(2) $d\left(I^{n} f, \rho\right) \rightarrow 0$ as $n$ tends to $\infty$. This alludes that

$$
\begin{equation*}
\lim _{n \rightarrow \infty} \frac{f\left(q_{1}^{n} u\right)}{q_{1}^{n}}=\rho(u) \tag{2.11}
\end{equation*}
$$

for all $u \in L$.
(3) $d(f, \rho) \leq \frac{1}{1-l} d(f, I f)$, therefore the following inequality holds.

$$
\begin{equation*}
d(f, \rho) \leq \frac{1}{2 q_{1}} \cdot \frac{1}{1-q_{1}^{\alpha-1}}=\frac{1}{2\left(q_{1}-q_{1}^{\alpha}\right)} . \tag{2.12}
\end{equation*}
$$

This alludes that

$$
\begin{equation*}
\|f(u)-\rho(u)\| \leq \frac{1}{2\left(q_{1}-q_{1}^{\alpha}\right)} \varphi(u, u, \ldots, u) \tag{2.13}
\end{equation*}
$$

for all $u \in L$, so the inequality $(2.6)$ is established. To prove $\rho$ is lattice derivation, first, we show that $\rho$ is lattice homomorphism. Putting $q_{1}=q_{2}=\ldots=q_{n}:=q_{1}^{n}$ in (2.4), so we have

$$
\begin{equation*}
\left\|\bigvee_{i=1}^{n} f\left(\bigvee_{j=1}^{n} q_{1}^{n} u_{j}\right)+f\left(\bigvee_{i=1}^{n} q_{1}^{n} u_{i}\right)-2 \bigvee_{i=1}^{n} q_{1}^{n} f\left(u_{i}\right)\right\| \leq \varphi\left(u_{1}, u_{2}, \ldots, u_{n}\right) \tag{2.14}
\end{equation*}
$$

therefore

$$
\begin{equation*}
\left\|f\left(\bigvee_{i=1}^{n} q_{1}^{n} u_{i}\right)-\bigvee_{i=1}^{n} q_{1}^{n} f\left(u_{i}\right)\right\| \leq \frac{1}{2} \varphi\left(u_{1}, u_{2}, \ldots, u_{n}\right) \tag{2.15}
\end{equation*}
$$

In last inequality, we substitute $u_{i}:=q_{1}^{n} u_{i}$ for $1 \leq i \leq n$, so

$$
\begin{align*}
\left\|f\left(\bigvee_{i=1}^{n} q_{1}^{2 n} u_{i}\right)-\bigvee_{i=1}^{n} q_{1}^{n} f\left(q_{1}^{n} u_{i}\right)\right\| & \leq \frac{1}{2} \varphi\left(q_{1}^{n} u_{1}, q_{1}^{n} u_{2}, \ldots, q_{1}^{n} u_{n}\right) \\
& \leq \frac{1}{2} q_{1}^{n \alpha} \varphi\left(u_{1}, u_{2}, \ldots, u_{n}\right) \tag{2.16}
\end{align*}
$$

Then

$$
\begin{equation*}
\left\|\frac{1}{q_{1}^{2 n}} f\left(\bigvee_{i=1}^{n} q_{1}^{2 n} u_{i}\right)-\bigvee_{i=1}^{n} \frac{1}{q_{1}^{n}} f\left(q_{1}^{n} u_{i}\right)\right\| \leq \frac{1}{2} \frac{q_{1}^{n \alpha}}{q_{1}^{2 n}} \varphi\left(u_{1}, u_{2}, \ldots, u_{n}\right) . \tag{2.17}
\end{equation*}
$$

Due to lattice operations are continuous and $\alpha \in\left[0, \frac{1}{2}\right)$ therefore by 2.11 , as $n \rightarrow \infty$, we have

$$
\begin{equation*}
\rho\left(\bigvee_{i=1}^{n} u_{i}\right)=\bigvee_{i=1}^{n} \rho\left(u_{i}\right) . \tag{2.18}
\end{equation*}
$$

Hence, $\rho$ is lattice homomorphism. Second, we show that $\rho$ satisfies in the part (ii) of corollary (2.3). Putting $u_{i}:=q_{1}^{n} u_{i}$ for $i=1,2, \ldots, n$ in (2.6), so we have

$$
\begin{equation*}
\left\|f\left(\bigwedge_{i=1}^{n} q_{1}^{n} u_{i}\right)-\bigvee_{i=1}^{n}\left(f\left(q_{1}^{n} u_{i}\right) \wedge \bigwedge_{j=1, j \neq i}^{n} q_{1}^{n} u_{j}\right)\right\| \quad \leq \quad \psi\left(q_{1}^{n} u_{1}, q_{1}^{n} u_{2}, \ldots, q_{1}^{n} u_{n}\right) \tag{2.19}
\end{equation*}
$$

for all $u \in L$ and $q_{1} \geq 1$. If we divide both sides in last inequality by $q_{1}^{n}$, we get

$$
\begin{equation*}
\left\|\frac{1}{q_{1}^{n}} f\left(\bigwedge_{i=1}^{n} q_{1}^{n} u_{i}\right)-\bigvee_{i=1}^{n}\left(\frac{1}{q_{1}^{n}} f\left(q_{1}^{n} u_{i}\right) \wedge \bigwedge_{j=1, j \neq i}^{n} u_{j}\right)\right\| \leq \frac{1}{q_{1}^{n}} \psi\left(q_{1}^{n} u_{1}, q_{1}^{n} u_{2}, \ldots, q_{1}^{n} u_{n}\right) \tag{2.20}
\end{equation*}
$$

for all $u, v \in L$. As $n \rightarrow \infty$, by (2.11) we have

$$
\begin{align*}
\left\|\rho\left(\bigwedge_{i=1}^{n} u_{i}\right)-\bigvee_{i=1}^{n}\left(\rho\left(u_{i}\right) \wedge \bigwedge_{j=1, j \neq i}^{n} u_{j}\right)\right\| & \leq \frac{1}{q_{1}^{n}} \psi\left(q_{1}^{n} u_{1}, q_{1}^{n} u_{2}, \ldots, q_{1}^{n} u_{n}\right) \\
& \rightarrow 0 . \text { as } n \rightarrow \infty(\text { by } 2.35) \tag{2.21}
\end{align*}
$$

Emphasizes that lattice operations are continuous. Therefore, we get

$$
\begin{equation*}
\rho\left(\bigwedge_{i=1}^{n} u_{i}\right)=\bigvee_{i=1}^{n}\left(\rho\left(u_{i}\right) \wedge \bigwedge_{j=1, j \neq i}^{n} u_{j}\right) \tag{2.22}
\end{equation*}
$$

Then by (2.18) and (2.22) and corollary (2.3), $\rho$ is a lattice derivation on $L$, therefore,

$$
\begin{equation*}
\rho(u)=\rho(u \wedge u \wedge \ldots \wedge u)=(\rho(u) \wedge u) \vee(u \wedge \rho(u))=\rho(u) \wedge u \tag{2.23}
\end{equation*}
$$

It means that $\rho(u) \leq u$. Let $v \leq u$ then $v \vee u=u$, thus

$$
\rho(u)=\rho(v \vee u)=\rho(v) \vee \rho(u) \quad \text { for all } u, v \in L
$$

so $\rho(v) \leq \rho(u)$. Thus $\rho$ is isotone derivation, as a result $\rho^{2}(u) \leq \rho(u) \leq u$, so

$$
\begin{align*}
\rho^{2}(u)=\rho(\rho(u)) & =\rho(\rho(u) \wedge u)  \tag{2.24}\\
& =(\rho(u) \wedge \rho(u)) \vee\left(u \wedge \rho^{2}(u)\right)=\rho(u) \vee \rho^{2}(u)=\rho(u),
\end{align*}
$$

hence $\rho^{n}(u)=\rho(u)$, this can be easily shown with induction on $n$. To prove (4), assume that $u \in \operatorname{Fix}_{\rho}(L)$ and $v \leq u$, then

$$
\begin{align*}
\rho(v)=\rho(u \wedge v) & =(\rho(u) \wedge v) \vee(u \wedge \rho(v))  \tag{2.25}\\
& =(u \wedge v) \vee \rho(v)=v \wedge \rho(v)=v
\end{align*}
$$

It means that $v \in \operatorname{Fix}_{\rho}(L)$. If $u, v \in \operatorname{Fix}_{\rho}(L)$ then $\rho(u \vee v)=\rho(u) \vee \rho(v)=u \vee v$, therefore $u \vee v \in \operatorname{Fix}_{\rho}(L)$, hence $\operatorname{Fix}_{\rho}(L)$ is an ideal in L. Finally, if $u \in \operatorname{Fix}_{\rho}(L) \cap \operatorname{Ker}(\rho)$ then $0=\rho(u)=u$, which complete the proof.

Corollary 2.5. Assume that $L$ be a Banach lattice and $J: L \rightarrow L$ be a positive operator, such that

$$
\begin{equation*}
\|J(\tau u \vee \eta v)-\tau J(u) \vee \eta J(v)\| \leq \Upsilon(\tau u \vee \eta v, \tau u \wedge \eta v) \tag{2.26}
\end{equation*}
$$

and

$$
\begin{equation*}
\|J(u \wedge v)-((J(u) \wedge v) \vee(u \wedge J(v)))\| \leq \theta\left(\|u\|^{r} \vee\|v\|^{r}\right) \tag{2.27}
\end{equation*}
$$

Where $\Upsilon: L \times L \rightarrow[0, \infty)$ be a function such that

$$
\Upsilon(u, v) \leq(\tau \eta)^{\frac{\alpha}{2}} \Upsilon\left(\frac{u}{\tau}, \frac{v}{\eta}\right)
$$

for all $u, v \in L, \tau, \eta \geq 1, \theta>0$ and for which there are number $\alpha \in\left[0, \frac{1}{2}\right)$ and $r \in[0,1)$. Then there is a unique isotone lattice derivation $H: L \rightarrow L$ satisfies in

$$
\begin{equation*}
\|H(u)-J(u)\| \leq \frac{\tau^{\alpha}}{\tau-\tau^{\alpha}} \Upsilon(u, u) \tag{2.28}
\end{equation*}
$$

Proof. It has been proven that $J$ is lattice homomorphism i.e.

$$
\begin{equation*}
J(u \vee v)=J(u) \vee J(v) \tag{2.29}
\end{equation*}
$$

for all $u, v \in L$ and the following equality is satisfied,

$$
\begin{equation*}
\lim _{n \rightarrow \infty} \frac{1}{\tau^{n}} J\left(\tau^{n} u\right)=H(u) \tag{2.30}
\end{equation*}
$$

for all $u \in L$. Also the inequality (2.28) holds, [11] Theorem 1]. Replacing $u, v$ by $\tau^{n} u, \tau^{n} v$, respectively in (2.6), so we have

$$
\begin{align*}
\| J\left(\tau^{n}(u \wedge v)\right)-\left(J\left(\tau^{n} u\right) \wedge \tau^{n} v\right) \vee\left(\tau^{n} u \wedge J\left(\tau^{n} v\right)\right) & \| \\
\leq & \theta\left(\left\|\tau^{n} u\right\|^{r} \vee\left\|\tau^{n} v\right\|^{r}\right)=\tau^{n r} \theta\left(\|u\|^{r} \vee\|v\|^{r}\right) \tag{2.31}
\end{align*}
$$

for all $u, v \in L$ and $\tau \geq 1$. With dividing both sides in above inequality on $\tau^{n}$, we get

$$
\begin{equation*}
\left\|\frac{1}{\tau^{n}} J\left(\tau^{n}(u \wedge v)\right)-\left(\left(\frac{1}{\tau^{n}} J\left(\tau^{n} u\right) \wedge v\right) \vee\left(u \wedge \frac{1}{\tau^{n}} J\left(\tau^{n} v\right)\right)\right)\right\| \leq \tau^{n(r-1)} \theta\left(\|u\|^{r} \vee\|v\|^{r}\right) \tag{2.32}
\end{equation*}
$$

for all $u, v \in L$. As $n \rightarrow \infty$, by (2.11) we have

$$
\begin{align*}
\|H(u \wedge v)-((H(u) \wedge v) \vee(u \wedge H(v)))\| & \leq \lim _{n \rightarrow \infty} \tau^{n(r-1)} \theta\left(\|u\|^{r} \vee\|v\|^{r}\right) \\
& \rightarrow 0 \tag{2.33}
\end{align*}
$$

Emphasizes that lattice operations are continuous. Therefore, we get

$$
\begin{equation*}
H(u \wedge v)=(H(u) \wedge v) \vee(u \wedge H(v)) \tag{2.34}
\end{equation*}
$$

Therefore $H$ is a lattice derivation of $L$.

Theorem 2.6. Let L ba a Banach lattice. Conceive a cone-related functional $J: L \rightarrow L$ with $J(0)=0$, such that

$$
\begin{align*}
\| J\left(\frac{\tau|u|+\nu|w|}{2} \vee \eta|v|\right) \vee 2 J(\nu|w|-\tau|u| \wedge \eta|v|) & -\nu J(|w|) \vee \eta J(|v|) \|  \tag{2.35}\\
& \leq \varphi(\tau|u|, \eta|v|, \nu|w|)
\end{align*}
$$

and

$$
\begin{align*}
\| J(|u| \wedge|v| \wedge|w|)-((J(|u|) \wedge|v| \wedge|w|) & \vee(|u| \wedge J(|v|) \wedge|w|) \\
& \vee(|u| \wedge|v| \wedge J(|w|))) \| \leq \theta\left(\left(\|u\|^{r} \vee\|v\|^{r}\right) \wedge\|w\|^{r}\right) \tag{2.36}
\end{align*}
$$

for all $u, v, w \in L$ and $\tau, \eta, \nu \in[1, \infty), \theta>0$, and for some $r \in[0,1)$. Suppose that $\varphi: L^{3} \rightarrow[0, \infty)$ be a function satisfies in

$$
\begin{equation*}
\varphi(|u|,|v|,|w|) \leq(\tau \eta \nu)^{\frac{\alpha}{3}} \varphi\left(\frac{|u|}{\tau}, \frac{|v|}{\eta}, \frac{|w|}{\nu}\right), \tag{2.37}
\end{equation*}
$$

for all $u, v, w \in L$ and for which there is number $\alpha \in\left[0, \frac{1}{3}\right)$. Then there is an unique isotone cone-related lattice derivation $H: L \rightarrow L$ which satisfies in the following properties and inequality

$$
\begin{equation*}
\|H(|u|)-J(|u|)\| \leq \frac{\tau^{\alpha}}{\tau-\tau^{\alpha}} \varphi(|u|,|u|,|u|), \tag{2.38}
\end{equation*}
$$

for all $u \in L$ and $\tau \in[1, \infty)$.
Proof . It has been shown the mapping $J: L \rightarrow L$ satisfies in cone-related lattice homomorphism. i.e.

$$
J(|u| \vee|v| \vee|w|)=J(|u|) \vee J(|v|) \vee J(|w|),
$$

for any $u, v, w \in L$. Also, it have proven that the limit

$$
\begin{equation*}
\lim _{n \rightarrow \infty} \frac{J\left(\tau^{n}|u|\right)}{\tau^{n}}=H(|u|) \tag{2.39}
\end{equation*}
$$

exists, for every $u \in L$, furthermore, the inequality (2.38) is hold. We show that $J$ is cone-related lattice derivation. Replacing $u, v, w$ by $\tau^{n} u$ and $\tau^{n} v$ and $\tau^{n} w$, respectively in (2.36). So we obtain

$$
\begin{array}{r}
\| J\left(\left|\tau^{n} u\right| \wedge\left|\tau^{n} v\right| \wedge\left|\tau^{n} w\right|\right)-\left(\left(J\left(\left|\tau^{n} u\right|\right) \wedge\left|\tau^{n} v\right| \wedge\left|\tau^{n} w\right|\right) \vee\left(\left|\tau^{n} u\right| \wedge J\left(\left|\tau^{n} v\right|\right) \wedge\left|\tau^{n} w\right|\right)\right. \\
\left.\vee\left(\left|\tau^{n} u\right| \wedge\left|\tau^{n} v\right| \wedge J\left(\left|\tau^{n} w\right|\right)\right)\right) \| \leq \theta\left(\left(\left\|\tau^{n} u\right\|^{r} \vee\left\|\tau^{n} v\right\|^{r}\right) \wedge\left\|\tau^{n} w\right\|^{r}\right) \\
=\theta \tau^{n r}\left(\left(\|u\|^{r} \vee\|v\|^{r}\right) \wedge\|w\|^{r}\right), \tag{2.40}
\end{array}
$$

for all $u, v, w \in L$ and $\tau \geq 1$. With dividing both sides in above inequality on $\tau^{n}$, we have

$$
\begin{align*}
\| \frac{1}{\tau^{n}} J\left(\tau^{n}(|u| \wedge|v| \wedge|w|)\right)- & \left(\left(\frac{1}{\tau^{n}} J\left(\left|\tau^{n} u\right|\right) \wedge|v| \wedge|w|\right) \vee\left(|u| \wedge \frac{1}{\tau^{n}} J\left(\left|\tau^{n} v\right|\right) \wedge|w|\right)\right. \\
& \left.\vee\left(|u| \wedge|v| \wedge \frac{1}{\tau^{n}} J\left(\left|\tau^{n} w\right|\right)\right)\right) \| \leq \theta \tau^{n(r-1)}\left(\left(\|u\|^{r} \vee\|v\|^{r}\right) \wedge\|w\|^{r}\right) \tag{2.41}
\end{align*}
$$

for all $u, v, w \in L$ and $\theta>0$ for some $r \in[0,1)$. As $n \rightarrow \infty$ by (2.39), we have

$$
\begin{align*}
\| J(|u| \wedge|v| \wedge|w|)-((J(|u|) \wedge|v| \wedge|w|) & \vee(|u| \wedge J(|v|) \wedge|w|)  \tag{2.42}\\
& \vee(|u| \wedge|v| \wedge J(|w|))) \|
\end{align*}
$$

Therefore

$$
J(|u| \wedge|v| \wedge|w|)=(J(|u|) \wedge|v| \wedge|w|) \vee(|u| \wedge J(|v|) \wedge|w|) \vee(|u| \wedge|v| \wedge J(|w|))
$$

for every $u, v, w \in L$.
Theorem 2.7. Let $U$ be a Banach lattice and $\Lambda: U \rightarrow U$ be a cone-related functional for which there are numbers $\theta>0, \delta \geq 0$ and $r<2$ such that

$$
\begin{equation*}
\left\|\Lambda(\tau|u| \vee \eta|v|)-\left(\tau^{2} \Lambda(|u|) \vee \eta^{2} \Lambda(|v|)\right)\right\| \leq \delta+\theta\left(\|u\|^{r}+\|v\|^{r}\right) \tag{2.43}
\end{equation*}
$$

and

$$
\begin{equation*}
\left\|\Lambda(\tau|u| \wedge \eta|v|)-\left(\left(\tau^{2} \Lambda(|u|) \wedge \eta^{3}|v|\right) \vee\left(\tau^{3}|u| \wedge \eta^{2} \Lambda(|v|)\right)\right)\right\| \leq \theta\left(\|u\|^{r} \vee\|v\|^{r}\right) \tag{2.44}
\end{equation*}
$$

for all $u, v \in U$ and $\tau, \eta>1$. Then there exists a unique isotone cone related lattice derivation $\Pi: U \rightarrow U$, which satisfies properties and inequality.

$$
\begin{equation*}
\|\Pi(|u|)-\Lambda(|u|)\| \leq \frac{1}{\tau^{2}-1} \delta+\frac{2 \theta}{\tau^{2}-\tau^{r}}\|u\|^{r} \tag{2.45}
\end{equation*}
$$

and

$$
\begin{equation*}
\Pi(|\tau u|)=\tau^{2} \Pi(|u|) \tag{2.46}
\end{equation*}
$$

for all $u \in U$
Proof . It is easy to prove that the sequence $\tau^{-2 n} \Lambda\left(\tau^{n}|u|\right)$ is a Cauchy sequence so, it's convergent to $\Pi(|u|) \in U$. Also, we can show that

$$
\begin{equation*}
\Pi(|u| \vee|v|)=\Pi(|u|) \vee \Pi(|v|) \tag{2.47}
\end{equation*}
$$

for all $u, v \in U$. Moreover, we can see that (2.45) and (2.46) are satisfied. Next, by substituting $\tau$ and $\eta$ with $\tau^{n}$ in (2.44) so we obtain

$$
\begin{equation*}
\left\|\Lambda\left(\tau^{n}|u| \wedge \tau^{n}|v|\right)-\left(\left(\tau^{2 n} \Lambda(|u|) \wedge \tau^{3 n}|v|\right) \vee\left(\tau^{3 n}|u| \wedge \tau^{2 n} \Lambda(|v|)\right)\right)\right\| \leq \theta\left(\|u\|^{r} \vee\|v\|^{r}\right) \tag{2.48}
\end{equation*}
$$

Replacing $u$ with $\tau^{n} u$ and $v$ with $\tau^{n} v$, we get

$$
\begin{equation*}
\left\|\Lambda\left(\tau^{2 n}(|u| \wedge|v|)\right)-\left(\left(\tau^{2 n} \Lambda\left(\tau^{n}|u|\right) \wedge \tau^{4 n}|v|\right) \vee\left(\tau^{4 n}|u| \wedge \tau^{2 n} \Lambda\left(\left|\tau^{n} v\right|\right)\right)\right)\right\| \leq \theta \tau^{n r}\left(\|u\|^{r} \vee\|v\|^{r}\right) \tag{2.49}
\end{equation*}
$$

Thus

$$
\begin{equation*}
\left.\| \frac{\Lambda\left(\tau^{2 n}(|u| \wedge|v|)\right)}{\tau^{4 n}}-\left(\left(\frac{\Lambda\left(\tau^{n}|u|\right)}{\tau^{2 n}}\right) \wedge|v|\right) \vee\left(|u| \wedge \frac{\Lambda\left(\left|\tau^{n} v\right|\right.}{\tau^{2 n}}\right)\right) \| \leq \theta \frac{\tau^{n r}}{\tau^{4 n}}\left(\|u\|^{r} \vee\|v\|^{r}\right) \tag{2.50}
\end{equation*}
$$

by letting $n \rightarrow \infty$ and using the fact that lattice operators are continuous, we have

$$
\begin{align*}
\| \Pi(|u| \wedge|v|)-((\Pi(|u|) \vee|v|) \vee(|u| \wedge \Pi(|v|)) \| & \leq \lim _{n \rightarrow \infty} \theta \tau^{n(r-4)}\left(\|u\|^{r} \vee\|v\|^{r}\right) \\
& =0 . \tag{2.51}
\end{align*}
$$

Therefore

$$
\begin{equation*}
\Pi(|u| \wedge|v|)=(\Pi(|u|) \vee|v|) \vee(|u| \wedge \Pi(|v|) \tag{2.52}
\end{equation*}
$$

for all $u, v \in U$. We come to the conclusion that $\Pi$ is isotone cone-related lattice derivation by (2.47) and (2.52).

## References

[1] N. K. Agbeko, Stability of maximum preserving functional equations on Banach lattices, Miskolc Math. Notes, 13(2012) 187-196.
[2] C. D. Aliprantis and O. Burkinshaw, Positive operators, Springer Science and Business Media, 2006.
[3] L. Cadariu and V. Radu, On the stability of the Cauchy functional equation: a fixed point approach, Grazer Mathematische Berichte, 2004.
[4] L. Cadariu and V. Radu, Fixed points and the stability of Jensen's functional equation, J. Inequal. Pure Appl. Math, 4(2003) 1-4.
[5] D. H. Hyers, On the stability of the linear functional equation, Proc. Natl. Acad. Sci. U.S.A., 27(1941) 222.
[6] Peter Meyer-Nieberg, Banach lattices, Springer Science and Business Media, 2012.
[7] A. K. Mirmostafaee and M. S. Moslehian, Fuzzy almost quadratic functions, Results Math., 52(2008) 161-177.
[8] M. Mirzavaziri and M. S. Moslehian, A fixed point approach to stability of a quadratic equation, Bull. Braz. Math. Soc., 37(2006) 361-376.
[9] S. M. S. Modarres Mosadegh and E. Movahednia, Stability of preserving lattice cubic functional equation in Menger probabilistic normed Riesz spaces, J. Fixed Point Theory Appl., 20(2018) 34.
[10] E. Movahednia, Y. Cho, C. Park and S. Paokanta, On approximate solution of lattice functional equations in Banach f-algebras, AIMS Math., 5(2020) 5458-5469.
[11] E. Movahednia, C. Park and D. Y. Shin, Approximation of involution in multi-Banach algebras: Fixed point technique, AIMS Math., 6(2021) 5851-5868.
[12] M. R. Velayati and N. SalehiStability of maximum preserving functional equation on multi-Banach lattice by fixed point method, Fixed Point Theory, 21(2020) 363-374.
[13] P. LoeLoe, E. Movahednia and Manuel De la Sen, Hyers Stability and Multi-Fuzzy Banach Algebra, Mathematics, 10(2022) 106.
[14] V. Radu, The fixed point alternative and the stability of functional equations, Fixed Point Theory, 4(2003) 91-96.
[15] Th. M. Rassias, On the stability of the linear mapping in Banach spaces, Proc. Am. Math. Soc., 72(1978) 297-300.
[16] F. Riesz, Sur la décomposition des opérations fonctionnelles linéaires, In Atti del Congresso Internazionale dei Matematici, 3(1928) 143-148.
[17] H. H. Schaefer, In Banach Lattices and Positive Operators, Springer, 1974.
[18] S. M. Ulam, Problems in modern mathematics, Courier Corporation, 2004.
[19] A. C. Zaanen, Introduction to operator theory in Riesz spaces, Springer Science and Business Media, 2012.


[^0]:    *Corresponding author
    Email addresses: movahednia@bkatu.ac.ir (Ehsan Movahednia), baak@hanyang.ac.kr (Choonkil Park), jrlee@daejin.ac.kr (Jung Rye Lee)

